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QUESTION 1

Which PROC MEANS statements specifies variables to group the data before calculating statistics? 

A. CLASS 

B. GROUP 

C. SUMBY 

D. VAR 

Correct Answer: A 

 

QUESTION 2

You submit a program and the SAS log is shown below: Which statement is true regarding the submitted program? 

A. The error in the PROC SORT step caused the program to stop processing 

B. All three steps ran successfully 

C. The DATA step and PROC PRINT steps ran without errors. 

D. The PROC SORT and PROC PRINT steps failed. 

Correct Answer: A 
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QUESTION 3

The SAS log of a submitted DATA step is shown below: 

Which action resolve the error messages? 

A. Remove the period after the value of Inc. 

B. Enclose the value of ABC Inc . in quotation marks. 

C. Add a LENGTH statement to declare the company variable as character 

D. Enclose the value of ABC Inc. in parentheses. 

Correct Answer: A 

 

 

QUESTION 4

Which LABEL statement has correct syncytax? 

A. Label1 FName=\\' First Name\\' ; LName =; Last Name` ; 

B. Label1 FName=\\' First Name\\' LName =\\' Last Name` ; 

C. Label1 FName=\\' First Name\\' and LName =\\' Last Name` ; 

D. Label1 FName=\\' First Name\\' , LName =; Last Name` ; 

Correct Answer: D 

 

QUESTION 5

Which iterative DO statement is invalid? 

A. Do 100 to 1200 by 100; 

B. Do num = 1.1 to 1.9 by 0.1; 
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C. Do year = 2000 to 2016 by 2; 

D. Do reverse = 10 to 1 by -1; 

Correct Answer: A 

 

QUESTION 6

Given the following assignment statement: 

BirthDate = 15DEC2005\\'d; 

Which statement is true? 

A. 15DEC2005 \\'d is a character constant 

B. BirthDate is a numeric variable. 

C. The byte size of BirthDate is 9. 

D. The assignment statement contains a syntax error. 

Correct Answer: B 

 

 

QUESTION 7

How many statements are In the program shown below? 

A. 9 

B. 6 

C. 10 

D. 2 

Correct Answer: D 
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QUESTION 8

Given the code shown below: 

What will be the format for MSRP in the RPOC PRINT output? 

A. There is a syntax error in the FORMAT statement in the PROC PRINT step. 

B. Comma12. 2 

C. Dollar10. 

D. Dollar12. 

Correct Answer: D 

 

QUESTION 9

Which statement is true when creating two SAS data sets with a DATA step? 

A. Name both data sets in the DATA statement 

B. Use an OUT= option in the WHERE statement to output the observations to the appropriate data sets. 

C. Use a PUT statement to output the observations to the appropriate data sets. 

D. Use a separate SET statement for each data set. 

Correct Answer: D 

 

QUESTION 10

Given the partial shown below: 

A00-215 PDF Dumps | A00-215 VCE Dumps | A00-215 Exam Questions                                5 / 6

https://www.pass4itsure.com/a00-215.html
https://www.pass4itsure.com/a00-215.html
https://www.pass4itsure.com/a00-215.html


https://www.pass4itsure.com/a00-215.html
2024 Latest pass4itsure A00-215 PDF and VCE dumps Download

Which step will produce this report? 

A. proc freq data=sashelp. shoes data=sashelp.shoes; region product / list run; 

B. proc freq data=sashelp.shoes; tables region*producc / cross run; 

C. proc freq data= sashelp, shoes order=freq; table region product / crosalist run; 

D. proc freq data=sashelp. shoes order=freq; tables region*product / list; run; 

Correct Answer: C 
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